A NOTE ON CHEBISHEV'S INEQUALITY VIA k-GENERALIZED FRACTIONAL INTEGRALS

JUAN E. NÁPOLES VALDÉS AND FLORENCIA RABOSSI

ABSTRACT. We establish certain integral inequalities for the Chebyshev functional in the case of synchronous functions, using the k-generalized fractional integrals. In this new framework, we prove several known integral inequalities.

1. Introduction

One of the most developed mathematical areas in recent years is that of integral inequalities, in particular using various fractional and generalized integral operators (see, for example, [4, 6, 11, 13, 14, 19, 24]). In earlier work, generalized *k*-proportional fractional integral operators with general kernel were defined, containing many of the known fractional operators.

To facilitate the understanding of this work, we need to present some preliminary results. We will use throughout the functions Γ (see [26, 28, 36, 37]) and Γ_k (defined in [9]):

$$\Gamma(z) = \int_0^\infty \tau^{z-1} e^{-\tau} d\tau, \quad \operatorname{Re}(z) > 0,$$

$$\Gamma_k(z) = \int_0^\infty \tau^{z-1} e^{-\tau^k/k} d\tau, \quad k > 0.$$

It is clear that if $k \to 1$ we have $\Gamma_k(z) \to \Gamma(z)$, $\Gamma_k(z) = (k)^{\frac{z}{k}-1} \Gamma\left(\frac{z}{k}\right)$, and $\Gamma_k(z+k) = z\Gamma_k(z)$. We also define the k-beta function as follows:

$$B_k(u,v) = \frac{1}{k} \int_0^1 \tau^{\frac{u}{k}-1} (1-\tau)^{\frac{v}{k}-1} d\tau.$$

Notice that $B_k(u,v) = \frac{1}{k}B(\frac{u}{k},\frac{v}{k})$ and $B_k(u,v) = \frac{\Gamma_k(u)\Gamma_k(v)}{\Gamma_k(u+v)}$.

Although there is a "basic" fractional integral operator, that of Riemann–Liouville, this has been the origin of various extensions and generalizations, one of which we present in this work, from the point of view of differential operators; by manipulating simple algebraic identities, we can follow the idea of fractional differential operators of the Riemann–Liouville or Caputo type. From the simple facts $\alpha = 1 + \alpha - 1$ or $\alpha = \alpha - 1 + 1$ we have, respectively,

$$^{RL}D^{\alpha}f(t) = \frac{d}{dt} \left\{ J_{a_1}^{1-\alpha}(f)(t) \right\},$$

$$^{C}D^{\alpha}f(t) = J_{a_1}^{1-\alpha} \left(\frac{df}{dt} \right)(t).$$

For the reader's convenience, we present several definitions of fractional integrals, some of them very recent (with $0 \le a_1 < \tau < a_2 \le \infty$). One of the first operators that can be called fractional is the Riemann–Liouville fractional derivative of order $\alpha \in \mathbb{C}$, with $\text{Re}(\alpha) > 0$, defined as follows (see [12]).

²⁰²⁰ Mathematics Subject Classification. Primary 26A33; Secondary 26D10, 47A63.

Definition 1.1. Let $a_1 < a_2$ and $f \in L^1((a_1, a_2); \mathbb{R})$. The right- and left-sided Riemann–Liouville fractional integrals of order α , with $\text{Re}(\alpha) > 0$, are defined, respectively, by

$${}^{RL}J_{a_1}^{\alpha}f(t) = \frac{1}{\Gamma(\alpha)} \int_{a_1}^{t} (t-s)^{\alpha-1} f(s) \, ds$$

and

$$^{RL}J_{a_2}^{\alpha}f(t) = \frac{1}{\Gamma(\alpha)} \int_t^{a_2} (s-t)^{\alpha-1} f(s) \, ds,$$

with $t \in (a_1, a_2)$.

The following are other definitions of fractional integral operators.

Definition 1.2 ([15]). Let $a_1 < a_2$ and $f \in L^1((a_1, a_2); \mathbb{R})$. The right- and left-sided Hadamard fractional integrals of order α , with $\text{Re}(\alpha) > 0$, are defined, respectively, by

$$H_{a_1}^{\alpha} f(t) = \frac{1}{\Gamma(\alpha)} \int_{a_1}^{t} \left(\log \frac{t}{s} \right)^{\alpha - 1} \frac{f(s)}{s} ds$$

and

$$H_{a_2^-}^{\alpha}f(t) = \frac{1}{\Gamma(\alpha)} \int_t^{a_2} \left(\log \frac{s}{t}\right)^{\alpha-1} \frac{f(s)}{s} ds,$$

with $t \in (a_1, a_2)$.

New fractional integral operators, called the Katugampola fractional integrals, were introduced in [17]:

Definition 1.3. Let $0 < a_1 < a_2$. Let $f : [a_1, a_2] \to \mathbb{R}$ be an integrable function. Let $\alpha \in (0, 1)$ and $\rho > 0$ be two fixed real numbers. The right- and left-sided Katugampola fractional integrals of order α are defined, respectively, by

$$k_{a_1}^{\alpha,\rho}f(t) = \frac{\rho^{1-\alpha}}{\Gamma(\alpha)} \int_{a_1}^t \frac{s^{\rho-1}}{(t^{\rho} - s^{\rho})^{1-\alpha}} f(s) ds,$$

and

$$k_{a_2}^{\alpha,\rho} f(t) = \frac{\rho^{1-\alpha}}{\Gamma(\alpha)} \int_t^{a_2} \frac{t^{\rho-1}}{(s^{\rho} - t^{\rho})^{1-\alpha}} f(s) ds,$$

with $t \in (a_1, a_2)$.

The left- and right-sided Riemann–Liouville *k*-fractional integrals are given in [22].

Definition 1.4. Let $f \in L_1[a_1, a_2]$. Then the Riemann–Liouville k-fractional integrals of order $\alpha \in \mathbb{C}$, with $\text{Re}(\alpha) > 0$ and k > 0, are given by the expressions

$${}^{\alpha}I_{a_{1}+}^{k}f(u) = \frac{1}{k\Gamma_{k}(\alpha)} \int_{a_{1}}^{u} (u-\tau)^{\frac{\alpha}{k}-1} f(\tau) d\tau, \quad u > a_{1},$$

$${}^{\alpha}I_{a_{2}-}^{k}f(u) = \frac{1}{k\Gamma_{k}(\alpha)} \int_{u}^{a_{2}} (\tau-u)^{\frac{\alpha}{k}-1} f(\tau) d\tau, \quad u < a_{2}.$$

A more general definition of the Riemann–Liouville fractional integrals is given in [18].

Definition 1.5. Let $f:[a_1,a_2]\to\mathbb{R}$ be an integrable function. Let g be an increasing and positive function on $(a_1,a_2]$ with a continuous derivative g' on (a_1,a_2) . The left- and right-sided fractional integrals of f with respect to g on $[a_1,a_2]$ of order $\alpha\in\mathbb{C}$, with $\mathrm{Re}(\alpha)>0$, are expressed by

$$\begin{split} & \underset{g}{\alpha} I_{a_1^+} f(u) = \frac{1}{\Gamma(\alpha)} \int_{a_1}^u \bigl(g(u) - g(\tau) \bigr)^{\alpha - 1} g'(\tau) f(\tau) \, d\tau, \quad u > a_1, \\ & \underset{g}{\alpha} I_{a_2^-} f(u) = \frac{1}{\Gamma(\alpha)} \int_{u}^{a_2} \bigl(g(\tau) - g(u) \bigr)^{\alpha - 1} g'(\tau) f(\tau) \, d\tau, \quad u < a_2. \end{split}$$

The following is a k-fractional analogue of Definition 1.5 (see [3, 20, 29]):

Definition 1.6. Let $f:[a_1,a_2]\to\mathbb{R}$ be an integrable function. Let g be an increasing and positive function on $(a_1,a_2]$ with a continuous derivative g' on (a_1,a_2) . The left- and right-sided k-fractional integrals of f with respect to g on $[a_1,a_2]$ of order $\alpha\in\mathbb{C}$, with $\mathrm{Re}(\alpha)>0$ and k>0, are expressed by

$${}^{\alpha}I_{a_{1}^{+}}^{k}f(u) = \frac{1}{k\Gamma_{k}(\alpha)} \int_{a_{1}}^{u} (g(u) - g(\tau))^{\frac{\alpha}{k} - 1} g'(\tau) f(\tau) d\tau, \quad u > a_{1},$$

$${}^{\alpha}I_{a_{2}^{-}}^{k}f(u) = \frac{1}{k\Gamma_{k}(\alpha)} \int_{u}^{a_{2}} (g(\tau) - g(u))^{\frac{\alpha}{k} - 1} g'(\tau) f(\tau) d\tau, \quad u < a_{2}.$$

An interesting definition is that of the generalized proportional fractional (GPF) integral (see [30]).

Definition 1.7. Let $U \in X_{\Psi}^q(0,+\infty)$, $0 < a_1 < a_2$, there is an increasing, positive monotone function Ψ defined on $[0,+\infty)$ having continuous derivative Ψ' on $[0,+\infty)$ with $\Psi(0)=0$. Then the left- and right-sided GPF integral operator of a function U in the sense of another function Ψ of order η are given by

$${}^{\Psi}T^{\eta,\varsigma}_{\upsilon_{1}+}U(\varsigma) = \frac{1}{\varsigma^{\eta}\Gamma(\eta)} \int_{\upsilon_{1}}^{\varsigma} \frac{\exp\left[\frac{\varsigma-1}{\varsigma}\left(\Psi(\varsigma)-\Psi(\xi)\right)\right]}{\left(\Psi(\varsigma)-\Psi(\xi)\right)^{1-\eta}} U(\xi)\Psi'(\xi) \, d\xi, \quad \upsilon_{1} < \varsigma,$$

and

$$^{\Psi}T_{\upsilon_{2}-}^{\eta,\varsigma}U(\varsigma)=rac{1}{arsigma^{\eta}\Gamma(\eta)}\int_{arsigma_{1}}^{arsigma}rac{\exp\left[rac{arsigma-1}{arsigms}\left(\Psi(\xi)-\Psi(arsigms)
ight)
ight]}{\left(\Psi(\xi)-\Psi(arsigms)
ight)^{1-\eta}}U(\xi)\Psi'(\xi)\,d\xi,\quad arsigma$$

where the proportionality index $\zeta \in (0,1]$, $\eta \in \mathbb{C}$, $\text{Re}(\eta) > 0$, and Γ is the gamma function.

The functional space on which we develop our work is the following.

Definition 1.8. Let $h \in L_1[0, +\infty)$ and let F be a continuous and positive function on $[0, +\infty)$ with F(0) = 0. The space $X_F^q(0, +\infty)$ ($1 \le q < +\infty$) consists of those real-valued Lebesgue measurable functions h on $[0, +\infty)$ for which

$$||h||_{X_F^q} = \left(\int_{a_1}^{a_2} |h(s)|^q F(s) \, ds\right)^{\frac{1}{q}} < +\infty, \quad 1 \le q < +\infty,$$

and, for the case $q = +\infty$,

$$||h||_{X_F^\infty} = \operatorname*{ess\,sup}_{0 \leq s < \infty} \left[F(s)h(s) \right].$$

We are now in a position to define the generalized integral operators that we will use in our work (see [23]).

Definition 1.9. Let $h \in X_F^q(0, +\infty)$ and let F be a continuous, positive function on $[0, +\infty)$ with F(0) = 0. The right- and left-sided generalized k-proportional fractional integral operators with general kernel of order γ of h are defined, respectively, by

$$J_{F,a_1+}^{\frac{\gamma}{k},\lambda}h(\chi) = \frac{1}{\lambda^{\gamma}k\Gamma_k(\gamma)} \int_{a_1}^{\chi} \frac{G(\mathbb{F}_+(\chi,s),\lambda)F(s)h(s)}{(\mathbb{F}_+(\chi,s))^{1-\frac{\gamma}{k}}} ds \tag{1}$$

and

$$J_{F,a_2-}^{\frac{\gamma}{k},\lambda}h(\chi) = \frac{1}{\lambda^{\gamma_k}\Gamma_k(\gamma)} \int_{\chi}^{a_2} \frac{G(\mathbb{F}_-(s,\chi),\lambda)F(s)h(s)}{(\mathbb{F}_-(s,\chi))^{1-\frac{\gamma}{k}}} ds, \tag{2}$$

where the proportionality index $\lambda \in (0,1)$, $\gamma \in \mathbb{C}$, $\text{Re}(\gamma) > 0$, $\chi \in (a_1,a_2)$, $\mathbb{F}_+(\chi,s) = \int_s^\chi F(r) dr$, $\mathbb{F}_-(s,\chi) = \int_\chi^s F(r) dr$, and $G(\mathbb{F}_+(\chi,s),1) = G(\mathbb{F}_-(\chi,s),1) = 1$.

Of course there are other integral fractional operators; variations of the previous ones can be considered, but we will omit them.

Remark 1.10. Next, we will show that many integral operators are particular cases of (1) and (2).

- (1) If in Definition 1.9 we make k = 1, F = 1, and $\lambda = 1$, we obtain the Riemann–Liouville operators of Definition 1.1.
- (2) Under the above conditions, if $k \neq 1$ then, from Definition 1.9, the k-fractional operators of [22] are obtained.
- (3) If $F(s) = \frac{1}{s}$, $\lambda = 1$, and k = 1, then the Hadamard fractional operator is reproduced; see Definition 1.2 and [15, 31].
- (4) If $F(s) = \frac{1}{s^p}$, $\lambda = 1$, and k = 1, then we obtain the Katugampola fractional operator of Definition 1.3; see [17].
- (5) Choosing $\lambda = 1$, F(s) = g'(s), and k = 1, we get the integral operator of [18].
- (6) Taking $F(s) = \frac{1}{s}$, $k \neq 1$, and $G(\mathbb{F}_+(\chi, s), \lambda) = \exp\left[\frac{\lambda 1}{\lambda}\left(\ln\frac{\chi}{s}\right)\right]$, we obtain the integral operator of [27].
- (7) We can obtain an integral operator with a non-singular nucleus, of the Riemann–Liouville type, by putting $\gamma = k = 1$, F(t) = 1, and $G(\mathbb{F}_+(x,s),\alpha) = \exp\left[-\frac{1-\alpha}{\alpha}(x-s)\right]$; this is a slight modification of the operator of [2].
- (8) Choosing $\lambda \neq 1$, F(s) = g'(s), k = 1, and $G(\mathbb{F}_+(\chi, s), \lambda) = \exp\left[\frac{\lambda 1}{\lambda}(g(\chi) g(s))\right]$, we obtain the integral operator of [30], called GPF, presented in Definition 1.7.

Theorem 1.11. Under the conditions $a_1 < \varsigma \le a_2$, $\theta > 0$, $\sigma > 0$, and $\gamma > 0$, suppose that ω is a continuous positive non-decreasing function on $[a_1,a_2]$ and $h:[a_1,a_2] \to \mathbb{R}^+$ is also a continuous positive function. Then the following inequality is valid:

$$J_{F,a_1+}^{\frac{\gamma}{k},\lambda}[(\varsigma-a_1)^{\sigma}h(\varsigma)\omega^{\theta}(\varsigma)]J_{F,a_1+}^{\frac{\gamma}{k},\lambda}h(\varsigma) \geq J_{F,a_1+}^{\frac{\gamma}{k},\lambda}[(\varsigma-a_1)^{\sigma}h(\varsigma)]J_{F,a_1+}^{\frac{\gamma}{k},\lambda}[h(\varsigma)\omega^{\theta}(\varsigma)].$$

2. RESULTS

One of the best known integral inequalities is Chebishev's inequality (see [7]), which establishes a relationship between the integral of the product of two functions and the product of their integrals. This inequality was stated in the framework of the classical Riemann integral:

$$\frac{1}{b-a} \int_a^b f(x)g(x) dx \ge \left(\frac{1}{b-a} \int_a^b f(x) dx\right) \left(\frac{1}{b-a} \int_a^b g(x) dx\right),\tag{3}$$

where f and g are two integrable and synchronous functions on [a,b], a < b, $a,b \in \mathbb{R}$. Inequality (3) has many applications in diverse research subjects such as numerical quadrature, transform theory, probability, existence of solutions of differential equations and statistical problems. Many authors have investigated generalizations of the Chebyshev inequality (3); these are called *Chebyshev-type inequalities* (see e.g. [1, 5, 8, 10, 16, 21, 25, 33, 34, 35]). This inequality will be generalized in the present work, using the generalized operator of Definition 1.9; many of the inequalities reported in the literature will be obtained as particular cases.

Definition 2.1. Two functions f and g are said to be synchronous (resp., asynchronous) on [a,b] if

$$((f(u) - f(v))(g(u) - g(v))) \ge 0$$
 (resp., ≤ 0)

for all $u, v \in [0, +\infty)$.

In Chebyshev's work cited above, the following functional is presented which has been the subject of attention in many investigations:

$$T(f,g) = \frac{1}{b-a} \int_a^b f(x)g(x) dx - \left(\frac{1}{b-a} \int_a^b f(x) dx\right) \left(\frac{1}{b-a} \int_a^b g(x) dx\right),$$

where f and g are two integrable functions which are synchronous on [a,b].

We will consider the following generalization of the functional T(f,g):

$$C^{rac{\gamma}{k}}_{\pmb{\lambda}}(f,g) = J^{rac{\gamma}{k},\pmb{\lambda}}_{F,a_1+}(fg)(\pmb{\chi}) - \left(rac{J^{rac{\gamma}{k},\pmb{\lambda}}_{F,a_1+}f(\pmb{\chi})J^{rac{\gamma}{k},\pmb{\lambda}}_{F,a_1+}g(\pmb{\chi})}{J^{rac{\gamma}{k},\pmb{\lambda}}_{F,a_1+}(1)(\pmb{\chi})}
ight),$$

with

$$J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(1)(\chi) = \frac{1}{\lambda^{\gamma}k\Gamma_k(\gamma)} \int_{a_1}^{\chi} \frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)(1)\,du}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}}.$$

Our first result is the following.

Theorem 2.2. Let f and g be two synchronous functions on $[0,\infty)$. Then for all $\chi > a_1 \ge 0$, $\alpha > 0$, $\lambda \in (0,1)$, and $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$, we have $C_{\lambda}^{\frac{\gamma}{k}}(f,g) \ge 0$.

Proof. As f and g are synchronous on $[0,\infty)$, it follows that, for all $u,v \ge 0$, we have

$$(f(u) - f(v))(g(u) - g(v)) \ge 0.$$

Therefore,

$$f(u)g(u) + f(v)g(v) \ge f(u)g(v) + f(v)g(u).$$
 (4)

Multiplying both sides of (4) by $\frac{1}{\lambda^{\gamma_k}\Gamma_k(\gamma)} \frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}}$ and then integrating the result with respect to u over (a_1,χ) , we obtain

$$\frac{1}{\lambda^{\gamma_k}\Gamma_k(\gamma)}\int_{a_1}^{\chi}\frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)f(u)g(u)du}{\left(\mathbb{F}_+(\chi,u)\right)^{1-\frac{\gamma}{k}}}+\frac{f(v)g(v)}{\lambda^{\gamma_k}\Gamma_k(\gamma)}\int_{a_1}^{\chi}\frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)du}{\left(\mathbb{F}_+(\chi,u)\right)^{1-\frac{\gamma}{k}}}$$

$$\geq \frac{g(v)}{\lambda^{\gamma k}\Gamma_k(\gamma)} \int_{a_1}^{\chi} \frac{G(\mathbb{F}_+(\chi,u),\lambda)f(u)F(u)\,du}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}} + \frac{f(v)}{\lambda^{\gamma k}\Gamma_k(\gamma)} \int_{a_1}^{\chi} \frac{G(\mathbb{F}_+(\chi,u),\lambda)g(u)F(u)\,du}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}},$$

expression that we can write as

$$J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi) + f(v)g(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi) \ge g(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + f(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi). \tag{5}$$

Multiplying both sides of (5) by $\frac{1}{\lambda^{\gamma}k\Gamma_k(\gamma)}\frac{G(\mathbb{F}_+(\chi,\nu),\lambda)F(\nu)}{(\mathbb{F}_+(\chi,\nu))^{1-\frac{\gamma}{k}}}$ and then integrating the resulting inequality with respect to ν over (a_1,χ) , we obtain

$$J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi) + J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)$$

$$\geq J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi),$$
(6)

that is,

$$J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi) \geq J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi).$$

Reordering and taking into account the definition of $C_{\lambda}^{\frac{7}{k}}(f,g)$, the desired inequality is obtained. This completes the proof.

Remark 2.3. If in Theorem 2.2 we consider k = 1, $a_1 = 1$, and $F(s) = \frac{1}{s}$, we have the Hadamard integral and the above result covers Theorem 3.1 of [8].

Theorem 2.4. Let f and g be two synchronous functions on $[0,\infty)$. Then for all $\chi > a_1 \ge 0$, $\lambda \in (0,1)$, and $\gamma, \delta \in \mathbb{C}$, with $\text{Re}(\gamma) > 0$ and $\text{Re}(\delta) > 0$, we have $C_{\lambda}^{\frac{\gamma}{\ell},\frac{\delta}{k}}(f,g) \ge 0$, where

$$\begin{split} C_{\lambda}^{\frac{\gamma}{k},\frac{\delta}{k}}(f,g) &= \frac{J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi)}{J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)} + \frac{J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fg)(\chi)}{J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(1)(\chi)} \\ &- \frac{J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(f)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi)}{J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(1)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)} \end{split}$$

is the generalization of the functional T(f,g) for γ and δ .

Proof. Multiplying both sides of (5) by $\frac{1}{\lambda^{\delta}k\Gamma_k(\delta)}\frac{G(\mathbb{F}_+(\chi,\nu),\lambda)F(\nu)}{(\mathbb{F}_+(\chi,\nu))^{1-\frac{\delta}{k}}}$ and then integrating the resulting inequality with respect to ν over (a_1,χ) , we obtain

$$\begin{split} J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(1)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fg)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi) \\ & \geq J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(f)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi). \end{split}$$

Dividing both sides of this inequality by $J_{F,a_1+}^{\frac{\delta}{k},\lambda}(1)(\chi)J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(1)(\chi)$, we get

$$\frac{J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(fg)(\chi)}{J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(1)(\chi)} + \frac{J_{F,a_1+}^{\frac{\delta}{k},\lambda}(fg)(\chi)}{J_{F,a_1+}^{\frac{\delta}{k},\lambda}(1)(\chi)} \geq \frac{J_{F,a_1+}^{\frac{\delta}{k},\lambda}(g)(\chi)J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + J_{F,a_1+}^{\frac{\delta}{k},\lambda}(f)(\chi)J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(g)(\chi)}{J_{F,a_1+}^{\frac{\delta}{k},\lambda}(1)(\chi)J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(1)(\chi)}.$$

Reordering and taking into account the definition of $C_{\lambda}^{\frac{\gamma}{k},\frac{\delta}{k}}(f,g)$, the desired inequality is obtained. This completes the proof.

Remark 2.5. Note that

- (1) Applying Theorem 2.4 for $\gamma = \beta$, we obtain Theorem 2.2.
- (2) If in Theorem 2.4 we consider k = 1 and $\gamma = \delta = 1$, then $C_{\lambda}^{\frac{\gamma}{\gamma}, \frac{\delta}{k}}(f, g)$ is T(f, g).

Theorem 2.6. Let $(f_i)_{i=1,2,...,n}$ be positive increasing functions on $[0,\infty)$. Then for all $\chi > a_1 \ge 0$, $\lambda \in (0,1)$, and $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$, we have

$$J_{F,a_1+}^{\frac{\gamma}{\ell},\lambda}\left(\prod_{i=1}^n f_i\right)(\chi) \geq \left[J_{F,a_1+}^{\frac{\gamma}{\ell},\lambda}(1)(\chi)\right]^{1-n} \prod_{i=1}^n J_{F,a_1+}^{\frac{\gamma}{\ell},\lambda}(f_i)(\chi).$$

Proof. We will use induction. Crearly, for n = 1,

$$J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(f_1)(\chi) \ge J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(f_1)(\chi)$$

for all $\chi > a_1 \ge 0$, $\alpha > 0$, $\lambda \in (0,1)$, and $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$.

For n = 2, applying equation (6), we obtain

$$J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(f_1f_2)(\chi) \geq \left[J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(1)(\chi)\right]^{-1}J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(f_1)(\chi)J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(f_2)(\chi).$$

Suppose that by induction hyphotesis

$$J_{F,a_1+}^{\frac{\gamma}{k},\lambda}\left(\prod_{i=1}^{n-1}f_i\right)(\chi) \geq \left[J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(1)(\chi)\right]^{2-n}\prod_{i=1}^{n-1}J_{F,a_1+}^{\frac{\gamma}{k},\lambda}(f_i)(\chi)$$

for all $\chi > a_1 \ge 0$, $\alpha > 0$, $\lambda \in (0,1)$, and $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$.

Now, since $(f_i)_{i=1,2,...,n}$ are positive and increasing on $[0,\infty)$, we have that $\left(\prod_{i=1}^{n-1} f_i\right)(\chi)$ is also positive and increasing on $[0,\infty)$. Therefore we can apply Theorem 2.2 to the functions $g = \prod_{i=1}^{n-1} f_i$ and $f = f_n$; we thus obtain

$$\begin{split} J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}\left(\prod_{i=1}^{n}f_{i}\right)(\chi) &\geq J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}\left(\prod_{i=1}^{n-1}f_{i}f_{n}\right)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}\left(gf\right)(\chi) \\ &\geq \left[J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)\right]^{-1}J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) \\ &\geq \left[J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)\right]^{-1}J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}\left(\prod_{i=1}^{n-a}\right)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f_{n})(\chi) \\ &\geq \left[J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)\right]^{-1}\left[J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)\right]^{2-n}\prod_{i=1}^{n-1}J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f_{i})(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f_{n})(\chi) \\ &\geq \left[J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)\right]^{1-n}\prod_{i=1}^{n}J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f_{i})(\chi). \end{split}$$

This completes the proof.

The previous results can be extended if we consider a certain positive "weight" function h.

Theorem 2.7. Let f and g be two synchronous functions on $[0,\infty)$, $h \ge 0$. Then for all $\chi > a_1 \ge 0$, $\lambda > 0$, and $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$, we have the following inequality:

$$\begin{split} J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(1)(\chi)J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(fgh)(\chi) &\geq J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(g)(\chi)J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(fh)(\chi) + J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(f)(\chi)J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(gh)(\chi) \\ &- J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(fg)(\chi)J_{F,a_{1}+}^{\tilde{\gamma},\lambda}(h)(\chi). \end{split}$$

Proof. Since $h \ge 0$ and the functions f and g are synchronous on $[0, \infty)$, we have that

$$(f(u) - f(v))(g(u) - g(v))(h(u) + h(v)) \ge 0$$

for all $u, v \ge 0$. Then,

$$f(u)g(u)h(u) + f(v)g(v)h(v) \ge f(u)g(v)h(u) + f(v)g(u)h(u) - f(v)g(v)h(u) - f(u)g(u)h(v) + f(u)g(v)h(v) + f(v)g(u)h(v).$$
(7)

Multiplying both sides of (7) by $\frac{1}{\lambda^{\gamma_k}\Gamma_k(\gamma)} \frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}}$ and then integrating the resulting inequality with respect to u over (a_1,χ) , we obtain

$$\begin{split} &\frac{1}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)f(u)g(u)h(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}} + \frac{f(v)g(v)h(v)}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}} \\ &\geq \frac{g(v)}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)f(u)h(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}} + \frac{f(v)}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)g(u)h(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}} \\ &- \frac{f(v)g(v)}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)h(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}} - \frac{h(v)}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)f(u)g(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}} \\ &+ \frac{g(v)h(v)}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)f(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}} + \frac{f(v)h(v)}{\lambda^{\gamma}k\Gamma_{k}(\gamma)}\int_{a_{1}}^{\chi}\frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)g(u)du}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma}{k}}}, \end{split}$$

expression that we can write as

$$J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fgh)(\chi) + f(v)g(v)h(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)$$

$$\geq g(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fh)(\chi) + f(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(gh)(\chi)$$

$$-f(v)g(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(h)(\chi) - h(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi)$$

$$+g(v)h(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + f(v)h(v)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi).$$
(8)

Multiplying both sides of (8) by $\frac{1}{\lambda^{\gamma_k}\Gamma_k(\gamma)} \frac{G(\mathbb{F}_+(\chi,\nu),\lambda)F(\nu)}{(\mathbb{F}_+(\chi,\nu))^{1-\frac{\gamma}{k}}}$ and then integrating the resulting inequality with respect to ν over (a_1,χ) , we obtain

$$\begin{split} J_{F,a_{1}+}^{\tilde{\chi},\lambda}(1)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(fgh)(\chi) + J_{F,a_{1}+}^{\tilde{\chi},\lambda}(fgh)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(1)(\chi) \\ & \geq J_{F,a_{1}+}^{\tilde{\chi},\lambda}(g)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(fh)(\chi) \\ & + J_{F,a_{1}+}^{\tilde{\chi},\lambda}(f)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(gh)(\chi) - J_{F,a_{1}+}^{\tilde{\chi},\lambda}(fg)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(h)(\chi) \\ & - J_{F,a_{1}+}^{\tilde{\chi},\lambda}(h)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(fg)(\chi) + J_{F,a_{1}+}^{\tilde{\chi},\lambda}(gh)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(f)(\chi) \\ & + J_{F,a_{1}+}^{\tilde{\chi},\lambda}(fh)(\chi)J_{F,a_{1}+}^{\tilde{\chi},\lambda}(g)(\chi), \end{split}$$

that is,

$$\begin{split} J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fgh)(\chi) &\geq J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fh)(\chi) + J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(gh)(\chi) \\ &\qquad \qquad -J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(h)(\chi). \end{split}$$

Remark 2.8. Applying Theorem 2.7 for h = 1, we obtain Theorem 2.2.

Theorem 2.9. Let f and g be two synchronous functions on $[0,\infty)$ and $h \ge 0$. Then for all $\chi > a_1 \ge 0$, $\lambda \in (0,1)$, $\gamma \in \mathbb{C}$ with $\operatorname{Re}(\gamma) > 0$, and $\delta \in \mathbb{C}$ with $\operatorname{Re}(\delta) > 0$, we have the

following inequality:

$$\begin{split} J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(h)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fgh)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fgh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(h)(\chi) \\ & \geq J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(gh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fh)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(gh)(\chi). \end{split}$$

Proof. Multiplying both sides of (8) by $\frac{1}{\lambda^{\delta}k\Gamma_{k}(\delta)}\frac{G(\mathbb{F}_{+}(\chi,\nu),\lambda)F(\nu)}{(\mathbb{F}_{+}(\chi,\nu))^{1-\frac{\delta}{k}}}$ and then integrating the resulting inequality with respect to ν over (a_{1},χ) , we obtain

$$\begin{split} J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(1)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fgh)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fgh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi) \\ & \geq J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fh)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(f)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(gh)(\chi) \\ & - J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fg)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(h)(\chi) - J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(h)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi) \\ & + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(gh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi). \end{split}$$

Remark 2.10. Applying Theorem 2.9 for h = 1, we obtain Theorem 2.4.

More precise results can be obtained if we impose additional conditions on the function h in the previous Theorem.

Theorem 2.11. Let f, g and h be three monotonic functions defined on $[0,\infty)$ satisfying the inequality

$$(f(u) - f(v))(g(u) - g(v))(h(u) - h(v)) \ge 0$$

for all $u, v \in [a_1, \chi]$. Then, for all $\chi > a_1 \ge 0$, $\lambda \in (0, 1)$, $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$, and $\delta \in \mathbb{C}$ with $\text{Re}(\delta) > 0$, we have

$$\begin{split} J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(1)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fgh)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fgh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(1)(\chi) \\ & \geq J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(g)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fh)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(f)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(gh)(\chi) \\ & - J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fg)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(h)(\chi) - J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(h)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(fg)(\chi) \\ & + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(gh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(f)(\chi) + J_{F,a_{1}+}^{\frac{\delta}{k},\lambda}(fh)(\chi)J_{F,a_{1}+}^{\frac{\gamma}{k},\lambda}(g)(\chi). \end{split}$$

Proof. As in the proof of Theorem 2.9, if we multiply both sides of (8) by $\frac{1}{\lambda^{\delta}k\Gamma_{k}(\delta)}$ × $\frac{G(\mathbb{F}_{+}(\chi,\nu),\lambda)F(\nu)}{(\mathbb{F}_{+}(\chi,\nu))^{1-\frac{\delta}{k}}}$ and then integrate the resulting inequality with respect to ν over (a_{1},χ) , we obtain the desired inequality.

An inequality involving the square of the functions f and g can be stated as follows.

Theorem 2.12. Let f and g be defined on $[0,\infty)$. Then for all $\chi > a_1 \ge 0$, $\lambda \in (0,1)$, and $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$, we have:

$$J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}(1)[J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}f^{2}(\chi) + J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}g^{2}(\chi)] \ge 2J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}f(\chi)J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}g(\chi) \tag{9}$$

and

$$J_{F,a_{1}^{+}}^{\gamma,\lambda}f^{2}(\chi)J_{F,a_{1}^{+}}^{\gamma,\lambda}g^{2}(\chi) \geq [J_{F,a_{1}^{+}}^{\gamma,\lambda}(fg)(\chi)]^{2}.$$
(10)

Actas del XVI Congreso Dr. Antonio A. R. Monteiro (2021), 2023

Proof. Since $(f(u) - g(v))^2 \ge 0$, we have

$$f^{2}(u) + g^{2}(v) \ge 2f(u)g(v). \tag{11}$$

Multiplying both sides of (11) by $\frac{1}{\lambda^{\gamma_k}\Gamma_k(\gamma)} \frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}}$ and then integrating the resulting inequality with respect to u and v over (a_1,χ) , we obtain (9).

On the other hand, since $(f(u)g(v) - f(v)g(u))^2 \ge 0$, the same arguments as before let us obtain (10).

Theorem 2.13. Let f and g be defined on $[0,\infty)$. Then for all $\chi > a_1 \ge 0$, $\lambda \in (0,1)$, $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$, and $\delta \in \mathbb{C}$ with $\text{Re}(\delta) > 0$, we have the following integral inequalities:

$$J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}f^{2}(\chi)J_{F,a_{1}^{+}}^{\frac{\delta}{k},\lambda}(1) + J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}(1)J_{F,a_{1}^{+}}^{\frac{\delta}{k},\lambda}g^{2}(\chi) \ge 2J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}f(\chi)J_{F,a_{1}^{+}}^{\frac{\delta}{k},\lambda}g(\chi), \tag{12}$$

$$J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}f^{2}(\chi)J_{F,a_{1}^{+}}^{\frac{\delta}{k},\lambda}g^{2}(\chi) + J_{F,a_{1}^{+}}^{\frac{\delta}{k}}f^{2}(\chi)J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}g^{2}(\chi) \ge 2J_{F,a_{1}^{+}}^{\frac{\gamma}{k},\lambda}(fg)(\chi)J_{F,a_{1}^{+}}^{\frac{\delta}{k},\lambda}(fg)(\chi). \tag{13}$$

Proof. Like before, since $(f(u) - g(v))^2 \ge 0$, we have

$$f^{2}(u) + g^{2}(v) \ge 2f(u)g(v). \tag{14}$$

Multiplying both sides of (14) by $\frac{1}{\lambda^{\gamma_k}\Gamma_k(\gamma)}\frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}}$ and $\frac{1}{\lambda^{\delta_k}\Gamma_k(\delta)}\frac{G(\mathbb{F}_+(\chi,v),\lambda)F(v)}{(\mathbb{F}_+(\chi,v))^{1-\frac{\delta_k}{k}}}$, and then integrating the resulting inequality with respect to u and v over (a_1,χ) , respectively, we obtain (12).

On the other hand, since $(f(u)g(v) - f(v)g(u))^2 \ge 0$, using the same arguments as before we obtain (13).

Remark 2.14. If we consider $\gamma = \delta$, we obtain Theorem 2.12.

The following is a result in a different direction.

Theorem 2.15. Let $f: \mathbb{R} \to \mathbb{R}$ with $\bar{f}(u) = \int_{a_1}^{u} F(z,s) f(z) dz$, $u > a_1 \ge 0$, $\lambda \in (0,1)$, and $\gamma \in \mathbb{C}$ with $\text{Re}(\gamma) > 0$. Then, for $\gamma \ge k > 0$, we have

$$J_{F,a_1^+}^{\frac{\gamma+k}{k},\lambda}f(\chi) = \frac{1}{k}J_{F,a_1}^{\frac{\gamma}{k},\lambda}\bar{f}(\chi).$$

Proof. Here

$$\begin{split} J_{F,a_1^+}^{\frac{\gamma}{k},\lambda}\bar{f}(\chi) &= \frac{1}{\lambda^{\gamma}k\Gamma_k(\gamma)} \int_{a_1}^{\chi} \frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)\bar{f}(u)}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}} du \\ &= \frac{1}{\lambda^{\gamma}k\Gamma_k(\gamma)} \int_{a_1}^{\chi} \frac{G(\mathbb{F}_+(\chi,u),\lambda)F(u)}{(\mathbb{F}_+(\chi,u))^{1-\frac{\gamma}{k}}} \int_{a_1}^{u} F(z,s)f(z) \, dz \, du. \end{split}$$

Then, by Dirichlet's formula, we see that the last expression becomes

$$\frac{1}{\lambda^{\gamma}k\Gamma_{k}(\gamma)} \int_{a_{1}}^{\chi} F(z,s)f(z) \int_{z}^{\chi} G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)(\mathbb{F}_{+}(\chi,u))^{\frac{\gamma}{k}-1} du dz$$

$$= \frac{1}{\lambda^{\gamma}\Gamma_{k}(\gamma+k)} \int_{a_{1}}^{\chi} \frac{G(\mathbb{F}_{+}(\chi,u),\lambda)F(u)f(u)}{(\mathbb{F}_{+}(\chi,u))^{1-\frac{\gamma+k}{k}}}$$

$$= kJ_{F,a_{1}^{+}}^{\frac{\gamma+k}{k}}f(u).$$

This completes the proof.

3. Conclusions

In this work we introduce a generalized formulation of the Riemann–Liouville fractional integral, which contains, as particular cases, many of the integral operators reported in the literature. In this context, we present a number of integral inequalities that generalize several known inequalities.

We want to highlight the strength of Definition 1.9: if we consider the kernel $F(\chi, s) = \chi^{1-s}$ and $G \equiv 1$, we obtain a variant of the (k,s)-Riemann–Liouville fractional integral of [32]:

$$_{a_{1}}^{s}I_{u}^{\alpha}f(u) = \frac{(2-s)^{1-\frac{\alpha}{k}}}{k\Gamma_{k}(\alpha)}\int_{a_{1}}^{u}(u^{2-s}-\chi^{2-s})^{\frac{\alpha}{k}-1}\chi^{1-s}f(\chi)\,d\chi.$$

This opens up wide possibilities of obtaining new integral inequalities.

REFERENCES

- [1] P. Agarwal, J. Tariboon, and S. K. Ntouyas, Some generalized Riemann-Liouville *k*-fractional integral inequalities, *J. Inequal. Appl.* **2016**, Paper No. 122, 13 pp. MR 3488595.
- [2] B. Ahmad, A. Alsaedi, M. Kirane, and B. T. Toberek, Hermite-Hadamard, Hermite-Hadamard-Fejér, Dragomir-Agarwal and Pachpatte type inequalities for convex functions via new fractional integrals, *J. Comput. Appl. Math.* **353** (2019), 120–129. MR 3898309.
- [3] A. Akkurt, M. E. Yildirim, and H. Yildirim, On some integral inequalities for (*k*,*h*)-Riemann-Liouville fractional integral, *New Trends Math. Sci.* **4** (2016), no. 2, 138–146. MR 3498726.
- [4] M. A. Ali, J. E. Nápoles Valdés, A. Kashuri, and Z. Zhang, Fractional non conformable Hermite-Hadamard inequalities for generalized φ-convex functions, Fasc. Math. (2020), no. 64, 5–16. MR 4277262.
- [5] D. Baleanu and S. D. Purohit, Chebyshev type integral inequalities involving the fractional hypergeometric operators, *Abstr. Appl. Anal.* **2014**, Art. ID 609160, 10 pp. MR 3200791.
- [6] S. Bermudo, P. Kórus, and J. E. Nápoles Valdés, On q-Hermite-Hadamard inequalities for general convex functions, Acta Math. Hungar. 162 (2020), no. 1, 364–374. MR 4169030.
- [7] P. L. Chebyshev, Sur les expressions approximatives des intégrales définies par les autres prise entre les mêmes limites, *Proc. Math. Soc. Charkov* 2 (1882), 93–98.
- [8] V. L. Chinchane and D. B. Pachpatte, A note on some fractional integral inequalities via Hadamard integral, *J. Fract. Calc. Appl.* **4** (2013), no. 1, 125–129.
- [9] R. Díaz and E. Pariguan, On hypergeometric functions and Pochhammer k-symbol, *Divulg. Mat.* **15** (2007), no. 2, 179–192. MR 2422409.
- [10] R. S. Dubey and P. Goswami, Some fractional integral inequalities for the Katugampola integral operator, *AIMS Math.* **4** (2019), no. 2, 193–198. MR 4135081.
- [11] J. Galeano, J. E. Nápoles V., and E. Pérez, A note on some integral inequalities in a generalized framework, *Int. J. Appl. Math. Stat.* **60** (2021), no. 1, 45–52.
- [12] R. Gorenflo and F. Mainardi, Fractional calculus: integral and differential equations of fractional order, in Fractals and Fractional Calculus in Continuum Mechanics (Udine, 1996), 223–276, CISM Courses and Lect., 378, Springer, Vienna, 1997. MR 1611585.
- [13] P. M. Guzmán, P. Kórus, and J. E. Nápoles Valdés, Generalized integral inequalities of Chebyshev type, Fractal Fract. 4 (2020), no. 2, Article No. 10, 7 pp. https://doi.org/10.3390/fractalfract4020010.
- [14] P. M. Guzmán and J. E. Nápoles Valdés, Generalized fractional Grüss-type inequalities, Contrib. Math. 2 (2020), 16–21. https://doi.org/10.47443/cm.2020.0029.
- [15] P. R. Halmos, Measure Theory, D. Van Nostrand, New York, 1950. MR 0033869.
- [16] S. Jain, P. Agarwal, B. Ahmad, and S. K. Q. Al-Omari, Certain recent fractional integral inequalities associated with the hypergeometric operators, *J. King Saud Univ. Sci.* **28** (2016), no. 1, 82–86. https://doi.org/10.1016/j.jksus.2015.04.002.
- [17] U. N. Katugampola, New approach to a generalized fractional integral, Appl. Math. Comput. 218 (2011), no. 3, 860–865. MR 2831322.
- [18] A. A. Kilbas, H. M. Srivastava, and J. J. Trujillo, Theory and Applications of Fractional Differential Equations, North-Holland Mathematics Studies, 204, Elsevier, Amsterdam, 2006. MR 2218073.
- [19] P. Kórus, L. M. Lugo, and J. E. Nápoles Valdés, Integral inequalities in a generalized context, *Studia Sci. Math. Hungar.* 57 (2020), no. 3, 312–320. MR 4188144.

- [20] Y. C. Kwun, G. Farid, W. Nazeer, S. Ullah, and S. M. Kang, Generalized Riemann–Liouville k-fractional integrals associated with Ostrowski type inequalities and error bounds of Hadamard inequalities, *IEEE Access* 6 (2018), 64946–64953. https://10.1109/ACCESS.2018.2878266.
- [21] Z. Liu, W. Yang, and P. Agarwal, Certain Chebyshev type inequalities involving the generalized fractional integral operator, *J. Comput. Anal. Appl.* **22** (2017), no. 6, 999–1014. MR 3644158.
- [22] S. Mubeen and G. M. Habibullah, *k*-fractional integrals and application, *Int. J. Contemp. Math. Sci.* 7 (2012), no. 1-4, 89–94. MR 2878620.
- [23] J. E. Nápoles Valdés, Some integral inequalities in the framework of generalized *k*-proportional fractional integral operators with general kernel, *Honam Math. J.* **43** (2021), no. 4, 587–596. MR 4345173.
- [24] J. E. Nápoles Valdés, J. M. Rodríguez, and J. M. Sigarreta, New Hermite–Hadamard type inequalities involving non-conformable integral operators, *Symmetry* 11 (2019), no. 9, Article No. 1108, 11 pp. https://doi.org/10.3390/sym11091108.
- [25] M. E. Özdemir, E. Set, A. O. Akdemir, and M. Z. Sarikaya, Some new Chebyshev type inequalities for functions whose derivatives belongs to *L_p* spaces, *Afr. Mat.* **26** (2015), no. 7-8, 1609–1619. MR 3415176.
- [26] F. Qi and B.-N. Guo, Integral representations and complete monotonicity of remainders of the Binet and Stirling formulas for the gamma function, *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM* 111 (2017), no. 2, 425–434. MR 3623848.
- [27] G. Rahman, T. Abdeljawad, F. Jarad, A. Khan, and K. S. Nisar, Certain inequalities via generalized proportional Hadamard fractional integral operators, *Adv. Difference Equ.* 2019, Paper No. 454, 10 pp. MR 4042975.
- [28] E. D. Rainville, Special Functions, Macmillan, New York, 1960. MR 0107725.
- [29] S. Rashid, Z. Hammouch, H. Kalsoom, R. Ashraf, and Y. M. Chu, New investigation on the generalized *X*-fractional integral operators, *Front. Phys.* 8 (2020), Article No. 25. https://doi.org/10.3389/fphy.2020. 00025.
- [30] S. Rashid, F. Jarad, M. A. Noor, H. Kalsoom, and Y.-M. Chu, Inequalities by means of generalized proportional fractional integral operators with respect to another function, *Mathematics* 7 (2019), no. 12, Article No. 1225. https://doi.org/10.3390/math7121225.
- [31] S. G. Samko, A. A. Kilbas, and O. I. Marichev, Fractional Integrals and Derivatives, Gordon and Breach, Yverdon, 1993. MR 1347689.
- [32] M. Z. Sarikaya, Z. Dahmani, M. E. Kiris, and F. Ahmad, (*k*, *s*)-Riemann-Liouville fractional integral and applications, *Hacet. J. Math. Stat.* **45** (2016), no. 1, 77–89. MR 3524811.
- [33] E. Set, J. Choi, and İ. Mumcu, Chebyshev type inequalities involving generalized Katugampola fractional integral operators, *Tamkang J. Math.* **50** (2019), no. 4, 381–390. MR 4030467.
- [34] E. Set, Z. Dahmani and İ Mumcu, New extensions of Chebyshev type inequalities using generalized Katugampola integrals via Pólya-Szegö inequality, Int. J. Optim. Control. Theor. Appl. IJOCTA 8 (2018), no. 2, 137–144. MR 3773484.
- [35] W. Yang, Some new Chebyshev and Grüss-type integral inequalities for Saigo fractional integral operators and their *q*-analogues, *Filomat* **29** (2015), no. 6, 1269–1289. MR 3359316.
- [36] Z.-H. Yang and J.-F. Tian, Monotonicity and inequalities for the gamma function, J. Inequal. Appl. 2017, Paper No. 317, 15 pp. MR 3740576.
- [37] Z.-H. Yang and J.-F. Tian, Monotonicity and sharp inequalities related to gamma function, *J. Math. Inequal.* 12 (2018), no. 1, 1–22. MR 3771780.

(Juan E. Nápoles Valdés) NATIONAL UNIVERSITY OF THE NORTHEAST, DEPARTMENT OF MATHEMATICS, 3400 CORRIENTES, ARGENTINA

Email address: jnapoles@exa.unne.edu.ar

(Florencia Rabossi) NATIONAL UNIVERSITY OF THE NORTHEAST, DEPARTMENT OF MATHEMATICS, 3400 CORRIENTES, ARGENTINA

Email address: florenciarabossi@exa.unne.edu.ar